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General Instructions :
The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

What are genetically modified crops ?
What is common among the three states of matter ?

Velocity of a particle moving along a straight line in a certain time interval is shown
below. What is the distance travelled during acceleration ?

Two objects of masses M1 and M2 are dropped in vacuum from a height above the
surface of Earth (M1 is greater than M2). Which one will reach the ground first and
why ?

What are macronutrients and why are they named so ? Give examples also.

Blood is considered to be a connective tissue. Give reason.

Define saturated solution. Mention any two methods by which a saturated solution is
made unsaturated.

Define the term inertia. Name the quantity that measures it.
What is the difference between distance and displacement ?
Why are lysosomes known as suicide bags ?

How does uniform linear motion differ from uniform circular motion ? Give two
points of difference.

A person feels refreshed, when his forehead is being sponged with cologne. Explain.

The earth attracts the moon. Does the moon attract the earth ? If it does, why does the
earth not move towards the moon ?
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While driving Jayant travels 30 km with a speed of 40 km/h and next 30 km with a
uniform speed of 20 km/h. Find his average speed.

Identify the type of tissue in the following :
Lining of kidney tubules, vascular bundle, skin

A farmer grows a leguminous crop between two cereal crops. What kind of advantage
he gets by such crop rotation ?

Name A, B, C, D, E and F in the following diagram showing change in its state

Increase heat and
decrease pressure
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Decrease heat and
increase pressure

(a) State first law of motion.
(b) Look at the diagrams given below and answer the following questions.
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In which case will the object move and in which direction ? Give reason in support
of your answer.
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Using Newton’s universal law of gravitation and second law of motion, find the
mathematical expression for acceleration due to gravity on the surface of any Planet.

A ball is thrown up vertically returns to the thrower after 6 seconds. Find :
(a) The velocity with which it was thrown up.

(b) The maximum height it reaches.

(Take g = 9.8 m/s?)

What are the three desirable traits for the cross breeding programs between desi
(indigenous) and exotic breeds ?

Give reasons to justify :

(a) Ice at 273 K is more effective in cooling than water at the same temperature
(b) An iron almirah is a solid at room temperature

(c) It is difficult so dry clothes in humid whether.

(a) State the law of conservation of momentum.
b) Explain how this law reasons the recoil of gun.
A bullet of mass 20g is horizontally fired with a velocity of 150 m/s from a pistol
of mass 2 kg. What is the recoil velocity of the pistol ?
OR
Define force and its S.I. unit.
The speed-time graph of a car of 1000 kg mass is given below. From the graph
answer the following :
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(i)  When is the maximum force acting on the car ? Why ?
(i) What is the retarding force ?
(iii) For how long is there no force acting ?

Draw an animal cell and label the following parts : mitochondria, rough endoplasmic
reticulum, Golgi apparatus and cell membrane.

OR
Make a comparison and write down ways in which plant cells are different from animal
cells.
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How much water should be mixed with 12 ml of alcohol so as to obtain 12% of
alcohol solution ?
Given a solution of substance ‘A’, how will you test whether it is saturated or
unsaturated with respect to ‘A" at given temperature ?
What is the main difference between aqueous and non aqueous solution.

OR
How much water should be added to 15 g of salt to obtain 15% salt solution ?
Give any two examples of pure substances.
What is dispersed phase and dispersed medium in a colloid ?

SECTION - B

Which will not take place when CS, is added to a mixture of iron filings and sulphur in
a beaker ?

(a) iron filings does not dissolve in CS,.

(b)  sulphur will dissolve forming a yellow solution.

(c) iron sulphide will be formed.

(d) none of the above.

When a mixture of iron filings and sulphur powder is heated, it is seen that :
(a) iron filings starts melting first
b) sulphur starts melting first

)

(
(c
(

both iron filing and sulphur melts together
d) nothing happens initially and after some time the mixture becomes red hot.

The correct order which describes the true solution, colloidal solution and suspension
in the order of their increasing stability is :

(a) suspension < colloidal solution < true solution

(b)  colloidal solution < true solution < suspension

(c) true solution < colloidal solution < suspension

(d) colloidal solution < suspension < true solution

The colour of iron sulphate is :
(a) blue

(b) green

(c) brown

(d) greenish blue

What would be observed when zinc granules are added to dil, sulphuric acid in a test
tube ?

(a) zinc granules change to powder.

(b)  colour of zinc changes from grey to white.

(c) the size of the zinc granules keeps decreasing.

(d) the surface of zinc metal becomes bright.
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In laboratory what precautions has to be taken with carbon disulphide :

(a) kept away from flame
b) kept away from carbon
c) kept away from distilled water

d) kept away from iron sulphide.

A mixture containing ammonium chloride salt and sand is heated in a china dish to
recover ammonium chloride from it. The inverted funnel is placed over china dish :
(a) Before heating

(b)  After heating

(c)  When fumes of ammonium chloride stop coming

(d) When fumes of ammonium chloride start coming

In iron sulphate, the particles of iron and sulphur are :
(a) visible

(b) not visible

(c) visible under microscope

(d) none of the above

Sublimation can be used to separate :
(a) volatile and non-volatile liquids.
b) volatile and non-volatile solids.

(
(c) miscible and immiscible liquids.
(d) none of these.

In a mixture of common salt, sand and ammonium chloride : first step of separation is :
(a) sublimation

(b) filtration

(c) crystallisation

(d) distillation

Temporary mount of a living organism is made in :
(a) alcohol

(b) acetone

(c) glycerine

(d) wax

Adulterated arhar dal becomes plain yellow in colour due to adulterant :
(a) Metanil yellow

(b) Turmeric

(c) Itching yellow

(d) Malachite green
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38. Cheek cells can be collected by :
(a) gently peeling of the inner cheek epithelium with forceps
(b) scraping the inside of the cheek with a toothpick
(c) pulling out the inner layer of skin inside the cheek with a scalpel
(d) none of these

Following are five options for testing Metanil yellow in arhar dal :
(i) make powder of 5 gm of arhar dal,

(ii) put dal powder in a test tube,

(iii) add 2-4 drops of conc. HCI,

(iv) filter the content and keep the filtrate separately,
(v) add 10 ml of water and shake well.

The correct sequence is :

(@) (@), (), i), @), v)

(b) (@), (v), (v), (i), (iid)

© (@) (i), @), (v), (i)

@ (@) @), v), ), (i)

Unbranched muscle fibres with characteristics striation are :
(a) unstriated muscle fibres

(b) striated muscle fibres

(c) cardiac muscle fibres

(d) involuntary muscle fibres

A permanent slide shows thin walled isodiametric cells with a large vacuole. The slide
contains :

(a) collenchyma cells
b) sclerenchyma cells

(
(c) parenchyma cells
(

d) nerve cells
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